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THE OPEN UNIVERSITY OF SRI LANKA

BACHELOR OF MANAGEMENT STUDIES DEGREE PRODRAMME LEVEL 03 N

MICROECONOMICS - MCU 1205
FINAL EXAMINATION — 2018

DURATION - THREE (03) HOURS

DATE : 06/10/2018 TIME :'1.30 pm. - 4.30 p.m.

Answer Part A and any three question from Part B.

01,

PART - A

“Do you “agree” or “disagree” with the following statements? Ex lain your answer usin
¥ 2 P g

illustrations where possible.

()
(i)

(iii)

(iv)

4

(vi)

(vii)

(viii)

(ix)

Profit is the payment made to the owner of capital.

If the production possibility curve is convex to the origin, it meant that the
opportunity cost is increasing. -

Indifference curves cross each other. |
Firms operate in Perfectly Competitive Market offer differentiated products.

The value of Price Elasticity of Demand for a product is given as -1.24. To increase
the revenue earned from the given product the price of the given product has to be
increased.

The vatue of Cross Price Elasticity between butter and margarine is negative (-) and
Tyre and Tube is positive (+).

Firms operate in a Perfectly Competitive industry make economic profit in the long
run.

When a tax is imposed on a commodity with perfectly elastic demand, the entire

tax burden is borne by the Consumer.

" An increase in demand causes the upward movement along the demand curve.

In the long run production, there are both fixed factors and variable factors.
(10 x 04 = 40 Marks)
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PART-B

(a) Explain whether the following statements are “true” or “false”.
() In the short run U shape of the cost curves arise because of economics &

diseconomies of scale.

(i)  MC curve reaches its minimum point at a lower level of output than AVC
. or AC curve. | ¥ i
(iii)  Shut down point is reached when total revenue equals to total variable cost.
(12 marks) )
(b)  Thecost function of a firm is given below. Fill in the table (copy the table in your
answer scripts).
Total Total | Total | Average | Average | Average | Marginal
Output | Fixed | Variable | Costs | fixe Variable | Tota Costs
~ Costs Costs T.C. Costs Costs Costs M.C.
TE.C. | TV.C. AFC. | AVC. | ATC.
0 120 0
1 144
2 184 |
3 232
4 292
5 372
6 486
7 654
8 726
(08 Marks)
(a) What are the characteristic of a Perfecﬂy Competitive market? Explain.
{05 Marks) -
(by Demand Clirve of a Perfectly Competitive market is perfectly elastic (P=D=AR=
MR) Do you agree? or disagree? Explain using illustrations. (07 Marks) -

“Perfectly Competitive Firms are capable of achieving maximum allocative -

©
efficiency in the long run” Do you agree? Explain using illustrations.
(08 Marks)
2
S . —_—
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04. (1) What are the determinants of Price Elasticity of Demand? Explain.
(08 Marks)

(i)  Using the data given below, calculate the price elasticities of product X and Y.

Price Quantity ‘ Demanded
| Product X Product Y
100 | 100 _ 00 F
110 _ 95 80
(07 Marks)

(i)  Inorder to increase the revenue earned from product X and Y, explain whether price

should be increase or decreased. (05 Marks)

05. (i) Consider the details given in the following table.

Quantity (unis) | 2 3 4 5 6 7 8
MU 40 |- 36 32 28 24 20 16 | 12
MUy 60 54 48 42 36 30 24 18

MUy = Marginal utility of good X
MUy = Marginal uttlity of good Y

Suppose the price of a unit of X is Rs. 4.00 and Y is Rs. 3.00. If the person’s income
is 44/= find the quantity of X and Y that will maximize consumer satisfaction.

(06 Marks)

(i)  Explain how the demand curve of a good is derived using price consumption curve

(P.P.C) (07 Marks)
' _ (iii)  Explain how the consumer equilibrium is reached under cardinal utility analysis
and ordinal utility analysis. | (07 Marks)
- All Rights Reserved -
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